Sinus:

= 100C
100C
|
T = —
f
1
1000

5 sin(20007 ¢)

Uy ™= evalf
3.53553390:
T
U, = evalf“ abs(u, ) dr
S 0
0.00318309886
T
u,,; = evalf J. u, dt
0
4 -
L
¥
2 —
n ] 1 ] ] [
00002 0,000 0,0006 0,0008
t
5
-2
-4 -

— Effektivwert
Gleichrichtwert

arithmetischer Aittelwert




Dreieckspannung:
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Rechteckspannung:

T:=1
1
T
50t —
-2
u =
0 —<t<LT
1
5 0<Lrand¢ < EY
0 % <tand <1
Uy = evalf
3.53553390:
T
Uy = eva[f[JO abs(u]) dr
2.50000000(
T
u .= evalf J u, dt
0
1.58113883(
5
4 —
3 —
Ll
oo —— Effaktivwert
2 Fleichrichtweart
arithmetischer Mittabwert
1 —
a 1 1 1 ' T ' |
a 02 0,4 0,6 0z 1

£} £l

l:nl"'f-




Einweggleichrichtung:
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Zweiwegegleichrichtung:
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